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- . Mathematics 306/326
: REVIEW 3

II! The rectangular prisms below are similar. The dimensions of the base of the sialler prism are 20 em by [0 em. [ts volume
is 2400 em’. The arca of the shaded face of the larger prism is 1080 cm”.
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What is the volume of the larger prism?
Show all your work.
Answer: The velume of the larger prism is e,
C' - The two right prisms with square bases represented below are similar,

Ag =120 ¢m?
h=12cm
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Fe=5emH

The lateral area of the smaller prism is 120 cm® and oue side of'its base measures 5 cm,
If the height of the larger prism is 12 ¢m, what is its volume?
Show all your work.

( Answer The volume of the larger prism is em’,
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Question _ ftem Objective~~ Type

1 2125 GEO.01 Extended answer
2 0019 GEQ.0]L Extended answer
3 0364 GEO.DI Extended answer
4 0490 GLO.02 Extended answer
5 0234 ALG.O2 Extended answer
6 0310 ALG.O2 Extended answer
7 0336 ALG.02 Extended answer
3 0359 ALG.02 Extended answer
9 0360 ALG.02 Extended answer
10 2043 ALG.02.07 LExtended answer

2- Correction key

Example of an appropriate solution
Height of small prism

2400
20x 10

Arca of face of small prism corresponding 1o shaded face of large prism
10 x 12 = {20 ent’
Ratio of areas

1080 cm? 9
120 cm? 1
=k*

=12 cm

k*=9
k=3
i =27
V., = 2400
vsmall x 27 = vlargc
2400 x 27 = 64 800 cm®
or
if k=3, dimensions of large prism are
20x3=60
10x3=30
[2x3=136

Volume of large prism
60 x 30 x 36 = 64 800 cm®

Answer: The volume of the [arger prism is 64 800 em’.

Skill.
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Problem solving
Problem solving
Problem solving
Problem solving
Problem solving
Problem solving
Problem solving
Problem solving
Problem solving

Casgier 7

Note: Students who have found the ratios of the arcas have shown that they have a partial understanding of the

problem.

Example of an appropriate method
Measure of the height of small prism
Ap=dcxh
120=4x5xh
h=6
Volume of small prism (V,)
Vi=Myx h
V,=5x5x6
V=150
Volume of large prism (V)

6 150
12 v!
[1]3 _ 150
2 V!

Vi =1200

Answer The volume of the larger prism is 1200 em’,



